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Name: __________________________________



1
The accompanying diagram shows a sketch of a quadratic function, [image: image1.png]


.

[image: image2.png]



What is the nature of the roots of the quadratic equation [image: image3.png]


?

	1)
	imaginary

	2)
	real, rational, and equal

	3)
	real, rational, and unequal

	4)
	real, irrational, and unequal



2
If [image: image4.png]b2 _dac <0



, the roots of the equation [image: image5.png]axd +bx+ec=0



 must be

	1)
	real, irrational, and unequal

	2)
	real, rational, and unequal

	3)
	real, rational, and equal

	4)
	imaginary



3
If a quadratic equation with real coefficients has a discriminant of 3, then the two roots must be

	1)
	real and rational

	2)
	real and irrational

	3)
	imaginary

	4)
	equal



4
If a quadratic equation with real coefficients has a discriminant of [image: image6.png]


, then its roots must be

	1)
	equal

	2)
	imaginary

	3)
	real and irrational

	4)
	real and rational



5
The roots of the equation [image: image7.png]2 rx+l

0



 are

	1)
	real, rational, and unequal

	2)
	real, irrational, and unequal

	3)
	real, rational, and equal

	4)
	imaginary



6
The roots of the equation [image: image8.png]0



 are

	1)
	real, rational, and equal

	2)
	real, rational, and unequal

	3)
	real, irrational, and unequal

	4)
	imaginary



7
The roots of the equation [image: image9.png]x4 2+ 4



 are

	1)
	real, rational, and unequal

	2)
	imaginary and unequal

	3)
	rational and equal

	4)
	rational and unequal



8
The roots of the equation [image: image10.png]x4+ 4x42



 are

	1)
	real, rational, and equal

	2)
	real, rational, and unequal

	3)
	real, irrational, and unequal

	4)
	imaginary



9
The roots of the equation [image: image11.png]x4 6x+1



 are

	1)
	real, rational, and unequal

	2)
	real, rational, and equal

	3)
	real, irrational, and unequal

	4)
	imaginary



10
The roots of the equation [image: image12.png]—fx+T=0



 are

	1)
	imaginary

	2)
	real and irrational

	3)
	real, rational, and unequal

	4)
	real, rational, and equal



11
The roots of the equation [image: image13.png]x4+ Tx-8

0



 are

	1)
	real, rational, and equal

	2)
	real, rational, and unequal

	3)
	real, irrational, and unequal

	4)
	imaginary



12
The roots of the equation [image: image14.png]


 are

	1)
	imaginary

	2)
	real, rational, and equal

	3)
	real, rational, and unequal

	4)
	real, irrational, and unequal



13
Which term describes the roots of the equation [image: image15.png]2x2 & 3x—



?

	1)
	rational

	2)
	irrational

	3)
	equal

	4)
	imaginary



14
The roots of the equation [image: image16.png]222 + 3x+



 are

	1)
	irrational and unequal

	2)
	imaginary

	3)
	rational and equal

	4)
	rational and unequal



15
The roots of the equation [image: image17.png]2%+ dx+



 are

	1)
	real, rational, and unequal

	2)
	real, irrational, and unequal

	3)
	real, rational, and equal

	4)
	imaginary



16
The roots of the equation [image: image18.png]2x2 + 6x+



 are

	1)
	imaginary

	2)
	real and irrational

	3)
	real, rational, and unequal

	4)
	real, rational, and equal



17
The roots of the equation [image: image19.png]2x2 & 3x—



 are

	1)
	real, rational, and unequal

	2)
	real, rational, and equal

	3)
	real, irrational, and unequal

	4)
	imaginary



18
The roots of the equation [image: image20.png]


 are

	1)
	real, rational, and equal

	2)
	real, rational, and unequal

	3)
	real, irrational, and unequal

	4)
	imaginary



19
The roots of the quadratic equation [image: image21.png]


 are

	1)
	imaginary

	2)
	real and irrational

	3)
	real, rational, and unequal

	4)
	real, rational, and equal



20
The roots of the equation [image: image22.png]3% —Tx=5



 are

	1)
	real, rational, and unequal

	2)
	real, rational, and equal

	3)
	real, irrational, and unequal

	4)
	imaginary



21
The roots of the equation [image: image23.png]


 are

	1)
	real, rational, and unequal

	2)
	real, irrational, and unequal

	3)
	real, irrational, and equal

	4)
	imaginary



22
The roots of the quadratic equation [image: image24.png]24 Tx



 are best described as

	1)
	real, equal, and rational

	2)
	real, unequal, and rational

	3)
	real, unequal, and irrational

	4)
	imaginary
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